Farmhouse in Mgarr



Reference No: 240171006-1609

Mgarr, North



€7,200,000

Total Rooms: 9

Bathrooms: 3

Floor Area (m²): 7000

P☐ Bedrooms: 4

Farmhouse - For Sale - Mgarr

A truly unique, detached farmhouse, currently being finished to very high standards, situated in peaceful surroundings, set on approximately on 7,000 sqm of land. Accommodation comprises of a large open plan kitchen/dining/living, bathroom, box-room and 4 bedrooms (2 of which have shower en-suite) This magnificent property further comprises a car-port that can take up to 4 cars, a swimming pool with ample deck area, extensive terraces and soft landscaping. Indeed, a rare find!

Features

- Gypsum Plastering
- Double Glazed
- Deck

- Skirting
- Pool
- Garden

Rooms

- ✓ Kitchen/Living/Dining: 5.2 x 12 m (62.4 m2)
- ✓ Box Room : 1 x 1 m (1 m2)
- Double Bedroom: 4.3 x 3.1 m (13.33 m2)
- ✓ Double Bedroom : 3.3 x 3 m (9.9 m2)
- Double Bedroom: 4.5 x 4.2 m (18.9 m2)
- ✓ Double Bedroom : 3.2 x 4 m (12.8 m2)
- Bathroom: 3.6 x 1.8 m (6.48 m2)
- ✓ Shower Ensuite : 2.8 x 1.5 m (4.2 m2)
- Shower Ensuite : 1.2 x 1.6 m (1.92 m2)
- Open Space : 8.4 x 4 m (33.6 m2)

Gallery



















Philip Incorvaja RE/MAX Specialists - Tigne Point

M: 79426774

E: philip@remax.com.mt

T: 21339121

RE/MAX Specialists - Tigne Point RU21A, The Point Shopping Mall, Tigne Point, Sliema, Malta